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���& ��������� �	� z* ���� � ROC �	� ���
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• ��
����� $% '� 	 ���
����
�����
 Z* X(z)* ���
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������	)	� ���
����
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 #� ��&�	��� ��	�	��,
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 �	 	�	 �&�(�
 ∮
C

zk−1 X(z) dz =

∮
C

+∞∑
n=−∞

x[n] z−n+k−1dz ����>�

��	� C  �����&  
��!�� ����
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 ����	�&
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 �	� X(z)* � 	�	�
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 ��
 ����>�%∮
C

zk−1 X(z)dz =
+∞∑

n=−∞
x[n]

∮
C

z−n+k−1dz. ������
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 Cauchy%

1

2πj

∮
C

zk−1dz =

⎧⎨
⎩

1 k = 0

0 k �= 0
������

 
� "��	��� n = k ���� ������* ����∮
C

X(z) zk−1dz = 2πjx[k]. ����1�
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Δ
=

1

2πj
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x[n] =
∑ [

����	��
 (residuals) ��
 X(z)zn−1 ��	�
 ���	�


�	� 7��� 	��
� ��	 ��(���� � ��
 ��	���
 C
]
. ����5�

'�

X(z) zn−1 =
A(z)

(z − z0)s
����8�

��	� A(z) ��� ���� ����
 ��	 z = z0* ���� �	 ����	��	 ��
 X(z)zn−1 ��
 z = z0 	�����
� (


Res
[
X(z) zn−1

]
z=z0

=
1

(s− 1)!

ds−1A(z)

dzs−1

∣∣∣
z=z0

. ����:�

������
��� ���� 23��(

X(z) =
1

1− αz−1
, |z| > |α| ������

����

X(z)zn−1 =
zn−1

1− αz−1
=

zn

z − α
. ����;�

.�
 ���	��� ��
 ����������
%

• n > 0% 3 �����
� (
 C  ! �	
 
 ���

 ���
�!����
 �	� |α|* 	 	�	�	
 ����7����� �	�

���	 z = α� 2'�


x[n] = Res
[
X(z)zn−1

]
z=α

=
1

0 !
zn|z=α = αn. ����>�

• n < 0% @������ �	��
���
 ���	
 ��	 0� A�
 �
 7�	!�� �	 ����	��	 ��	 �����* ��������
�

A(z) =
1

z − α
������

	����

X(z) zn−1 =
1

z−n(z − α)
. ������

�� ���	� ��
 ������ ���
� ⎧⎨
⎩

z = 0 ��#�
 m = −n

z = α ��
 ��#�
�
����1�

9
 ����	��
 ��
 ������ ��
 z = 0 ���	��
� 
�� ���

Res

[
1

z−n(z − α)

]
z=0

=
1

(m− 1)!

dm−1

dzm−1

[
1

z − α

]∣∣∣∣
z=0

. ����4�



�� ��������	�
� �
���������
���� ;

'
 
�
�!�	��� ��� ������(�� n = −1� +� 7��� ��� ������ "
 ��	���

X(z)zn−1 |n=−1 =
z−1

z − α
=

1

z(z − α)
����5�

	���� ������� ��
 ����4� ��
 m = −n = 1

Res

[
1

z (z − α)

]
z=0

=
1

0!

[
1

z − α

]
z=0

= −α−1. ����8�

9	 ����	��	 ��	 z = α ���
�%

Res

[
1

z (z − α)

]
z=α

=
1

0!

[
1

z

]
z=α

= α−1. ����:�

��
 x[n] = −α−1 + α−1 = 0�

9	 ���	 "
 ���!�� ��
 n = −2,−3, . . . $�����
* ��
 ���� � n

x[n] = αn u[n]. ������

����� (�

�
� ��������� �� ����	� 	�������

'�
�!	��� �	 ���
����
����� X(z) ��

X(z) =
N(z)

D(z)
����;�

��	� 	 7
"��
 �	� �	��(�!�	� N(z) ���
� �� �����	
 �	� 7
"�	! �	� �	��(�!�	� D(z)�

9��� ��
 
��	!
 ���	�


X(z) =
N∑

k=1

Ak

z − zk

���1>�

��	� zk ���
� 	� ���	� ��
 X(z)  
� �
 Ak ���
� �
 ����	��
 ��	�
 ���	�


Ak = (z − zk) X(z) |z=zk
. ���1��

• '� 	 7
"��
 �	� �	��(�!�	� N(z) ���
� ���
�!���	
 & ��	
 
�� �	 7
"�� �	� D(z)

���� � ���	!�� �� ��
�����  
� ��	���%

X(z) = Bmzm + Bm−1z
m−1 + · · ·+ B1z

1 + B0 +
N∑

k=1

Ak

z − zk

���1��

��	� m = 7
"��
 {N(z)}− 7
"��
 {D(z)}�



�> �� ��������	�
� �
���������
����

• '� 	 X(z) ���� �	��
��� ���	 ��#�
 s ��	 zi ����%

X(z) = Bmzm + Bm−1z
m−1 + · · ·+ B1z + B0 +

N∑
k=1

Ak

z − zk

+
s∑

l=1

Cl

(z − zi)l
���11�

��

Cl =
1

(s− l)!

ds−l

dzs−l
[z − zi]

sX(z)
∣∣∣
z=zi

, l = 1, 2, . . . , s. ���14�

������
��� ���� 23��( x[n] 
 	�	�"�
 ��#��
 ������
 x[n] �� ���
����
����� Z �	� ����,

�
� 
�� ���

X(z) =
z2

(z − α) (z − b)
=

z2

z2 − (α + b)z + αb
. ���15�

A�
 �
 7�	!�� ��� 
 	�	�"�
 x[n] �
�
���	!�� ���

X(z)

z
=

z

z2 − (α + b)z + αb
=

A1

z − α
+

A2

z − b
���18�

��	�

A1 =
(z − α)z

(z − α)(z − b)

∣∣∣
z=α

=
z

(z − b)

∣∣∣
z=α

=
α

α− b
���1:�

A2 =
(z − b)z

(z − α)(z − b)

∣∣∣
z=b

=
b

b− α
. ���1��

$�����

X(z)

z
= (

α

α− b
)

1

z − α
+ (

b

b− α
)

1

z − b
. ���1;�

3�	���(


X(z) = (
α

α− b
)

z

z − α
+ (

b

b− α
)

z

z − b

Z−1

←→ ���4>�

x[n] = (
α

α− b
) αnu[n] + (

b

b− α
) bnu[n]. ���4��

����� (�

�
� ����%
"� ���������

3����� ��
� �
 ��
)�� 	 X(z) �� �"�	���
 �����
 ������(� �	� z� 9��� � 
 	�	�"�
 x[n]

�����
� 
�� �	�
 ����������
 ��
 �����
�

������
��� �� � .����
� ���

X(z) =
3− 5

2
z−1

1− 3
2
z−1 + 1

2
z−2

=
3z2 − 5

2
z

z2 − 3
2
z + 1

2

. ���4��

3 ���	!�� �� ��
�����%



�� ��������	�
� �
���������
���� ��

3z2 − 5
2
z z2 − 3

2
z + 1

2

−3z2 + 9
2
z − 3

2
3 + 4

2
z−1 + 6

4
z−2  �	� 

4
2
z − 3

2

−4
2
z + 12

4
− 4

4
z−1

+6
4
− z−1

−6
4
− 18

8
z−1 − 6

8
z−2

	���� x[n] = 3, 2, 3
2
, . . .

����� )��	���� �� �����
�����

3)
������
� ���� ��
 �
�
��� ������� +� �� ��"	�	 
��& 
�
��!��	��� �	� X(z) ��

���
�	�����* ��(
 � ����� Taylor* 	���� � 
 	�	�"�
 x[n] "
 �����
� 
�� �	�
 ����������


�(� ������(� �	� z−1%

X(z) =
p0 + p1 z−1 + · · ·+ pn z−n

q0 + q1 z−1 + · · ·+ qn z−n
=

∞∑
n=0

x[n] z−n. ���41�

'�� �
 � �
������

 ��
 �	������
 ��	���%

p0 = q0x[0]

p1 = q0x[1] + q1x[0]
���

pn = q0x[n] + q1x[n− 1] + · · ·+ qnx[0]

���44�

	���� 
� �� �
 �����"�� �	  ��( ����(�� � �!����
 �#�����(� ���44� (
 ��	
 x[0]* x[1]*

. . . , x[n]�



�� �� ��������	�
� �
���������
����

��� �������
� ��� 	
��
��	���
	�� Z

����� *�����	+����

'� x[n]
Z←→ X(z) �� ROC% RX− < |z| < RX+  
� y[n]

Z←→ Y (z) �� ROC% RY − < |z| < RY + *

����

Ax[n] + By[n]
Z←→ AX(z) + BY (z), �� ROC% RZ− < |z| < RZ+ ���45�

��	� � ����	�& �!� ����
 RZ− < |z| < RZ+ ���
� �	�������	� � �	�& �(� ������	�
 ����	���

�!� ����
�

����� ,
�����������+� �� �	
���	� �	
�
�
��

'� x[n]
Z←→ X(z) �� ROC% RX− < |z| < RX+ * ����

αnx[n]
Z←→ X(α−1 z), �� ROC% |α|R−1

X < |z| < |α|RX+ ���48�

��	� α ��
��
�� �
 & ���
�� �
� '� 	 X(z) ���� ���	 ��	 z = z1* ���� 	 X(α−1 z) "
 ����

���	 ��	 z = αz1� 9	 ���	 ���!�� ��
 �
 ������ � �	� X(z)� '� α ���
� ��
��
�� �
 �����
�

���
������ �(� ���(�  
� �(� ������ ��  
�� �& 	
 
 ���(� ��	 z, ������	� '� α ���
�

���
�� �
* ���� �����
�  
� �������	)&�

����� -���+���� �
� X(z)

'� x[n]
Z←→ X(z) �� ROC% RX− < |z| < RX+ * ����

nx[n]
Z←→ −z

dX(z)

dz
, �� ROC% RX− < |z| < RX+ � ���4:�

����� (����%�������+� ��.�&
"� �	
�
�
���

'� x[n]
Z←→ X(z) �� ROC% RX− < |z| < RX+ * ����

x∗[n]
Z←→ X∗(z∗), �� ROC% RX− < |z| < RX+ � ���4��

����� /�0���� ��%�	�� �����

'� x[n] = 0 ��
 n < 0* ����

x[0] = lim
z→∞

X(z). ���4;�



�� ��������	�
� �
���������
���� �1

���� !������� �	
�
�
�0�

'� x[n]
Z←→ X(z) �� ROC% R1 = RX− < |z| < RX+  
� y[n]

Z←→ Y (z) �� ROC% R2 =

RY − < |z| < RY + * ����

[x ∗ y](n)
Z←→ X(z) Y (z), �� ROC �	� �������� ��� R1 ∩R2. ���5>�

'� ��

 ���	
 ��
 ��

 
 	�	�"�

 
 ������
� 
�� ������ � ��
 ����
* ���� � ����	�& �!,

� ����
 ��
 X(z) Y (z) ���
� ���
�!�����

����1 (����+���� �	
�
�
���

'��& � �������
 ���
� ������
 ���
��

 ��
 ��� 
������ ��
��� �� ��������(�� 23��(

x[n]
Z←→ X(z)� +�  
"�������� ��
 
 	�	�"�

  
�� n0 �����
�
* ��	� n0 > 0* ��	 !����

� x[n − n0]� '� � x[n] ���
� �
�
���* ���
�& x[n] = 0 ��
 n < 0* ���� x[n − n0] = 0 ��


n < n0� 2'�


Z
{
x[n− n0]

}
=

+∞∑
n=n0

x[n− n0] z
−n n−n0=m

=
+∞∑
m=0

x[m] z−m−n0 = z−n0 X(z). ���5��

� ����	�& �!� ����
 �	� ���
����
����	! Z ��
 ���
�	�������
 
 	�	�"�

 ���
� � ����	�&

�!� ����
 �	� ���
����
����	! Z ��
 
��� &
 
 	�	�"�

 �� ��"
�& ��	�"& � & 
�
�	�,

)& ��
 
��&
 & �	� 
����	�� � ���5�� ���!�� ��� ���	 ��
 
���
��
 
 	�	�"��
* 
��� ��


	�	�
�&�	�� 
 	�	�"�
�

%���������	 ����������
���	 Z

$������	��
� 	�������
 ��
)	��
 ��	 �	�������	 ���
����
����� Z 
 	�	�"���* ��(
  
�

��	 �	�������	 ���
����
����� Laplace. -����
��B

• '� x[n] ���
� 
���
�& 
 	�	�"�
* ���� ���!�� � ���5���

• '� � x[n] ���
� ������&'� ��(
�	 ������	* ���� 	 �	�������	
 ���
����
�����
 Z
��
 ���
�	�������
 
 	�	�"�

 �����
� 
�� ���

UZ
{

x[n− n0]
}

=
+∞∑
n=0

x[n− n0] z
−n n−n0=m

=
+∞∑

m=−n0

x[m] z−n0z−m

= z−n0

[ +∞∑
m=0

x[m] z−m +
−1∑

m=−n0

x[m] z−m
]



�4 �� ��������	�
� �
���������
����

= z−n0

[
X (z) +

−1∑
m=−n0

x[m]z−m

︸ ︷︷ ︸

��� �
 ���"& �


]
. ���5��

• '� � ���
�	������� 
 	�	�"�
 ���
� ��
 �	�)&
 x[n+n0]* ���� 	 �	�������	
 ���
���,

�
�����
 Z ��
 
 	�	�"�
 ��#��
 ������
 ���
�

UZ
{

x[n + n0]
}

= zn0

[
X (z)−

n0−1∑
m=0

x[m] z−m
]
. ���51�

� -��
 

 ��� ���	<���� ��
 ��������
 �	� �������	� ���
����
����	! Z� �� ��������
 �	�

�	�������	� ���
����
����	! Z �
�
��"���
� ��	� -��
 
 ����

��� �
��
��	���
	�� Z 	
����� ���������
����� 
� 

	!�"�

�
� A�
 �	 �&�
 �	�
��
�	� �����
�	
 δ[n] 	 ���
����
�����
 Z ���
�%

Z
{

δ[n]
}

= 1. ���54�

�7� A�
 �	 �&�
 ���
�	������	� �	�
��
�	� �����
�	
 δ[n− k] 	 ���
����
�����
 Z ���
�%

Z
{

δ[n− k]
}

= z−k. ���55�

��� A�
 �	 �&�
 u[n] 	 ���
����
�����
 Z ���
�%

Z
{

u[n]
}

=
z

z − 1
, |z| > 1 ���58�

'�����#�%

0��!��

X(z) =
+∞∑
n=0

z−n =
+∞∑
n=0

1

zn
. ���5:�

2��(
 �	 �"�	���
 ���5:� ���
� ��(����� & ���	�	
 �� ���	 1
z
� 23���* 
� |z−1| < 1* ����

X(z) =
z

z − 1
, |z| > 1. ���5��

��� A�
 ��� 
 	�	�"�
 anu[n] 	 ���
����
�����
 Z ���
�

Z
{

αn u[n]
}

=
z

z − α
, |z| > |α|. ���5;�

� -��
 

 ��1 ��� �������� 	������
 ���&"� ��!�� ���
����
������ Z�



�� ��������	�
� �
���������
���� �5

-��
 

 ���% 0�������
 �	� �������	� ���
����
����	! Z�

0������
 $&�
 +��
����
�����


Z
-���	�& �!� ����


x[n] X(z) R1

g[n] G(z) R2

A�
��� ����
 ax[n] + bg[n] aX(z) + bG(z) 9	�������	 R1 ∩R2

+��
������ ��	 ����	 x[n− n0] z−n0 X(z) R1 �� ��"
�& ��	�"&,

 � & ��
��
)& ��
 
�,

�&
 & 
����	�

C���� (�� ��	 z, ���,

���	

ejΩ0n x[n] X(e−jΩ0 z) R1

zn
0 x[n] X( z

z0
) z0 R1

αn z[n] X(α−1 z) |α|R1% �!�	�	 �(� ��,

���(� {|α|z} ∈ R1

/�	�� & 
�
���	)& x[−n] X(z−1) R−1
1 % �!�	�	 �(� ��,

���(� {z−1} ∈ R1

.�
��	�& x(k)[n] X(zk) R
1
k % �!�	�	 �(� ��,

���(� {z 1
k } ∈ R1

$�����
 x∗[n] X∗(z∗) R1

$�����#� (x ∗ g)[n] X(z) G(z) 9	�������	 R1 ∩R2

-���� ��
)	�� x[n]− x[n− 1] (1− z−1) X(z) 9	�������	 R1 ∩ {|z| > 0}

-
�
������ ��	 z, �,

�����	

n x[n] −z
dX(z)

dz
R1

$���������
∑n

k=−∞ x[k] 1
1− z−1 X(z) 9	�������	

R1 ∩ {|z| > 1}
D�����
 
��� &
 ���&


'� x[n] = 0 ��
 n < 0* ����

x[0] = lim
z→∞

X(z)



�8 �� ��������	�
� �
���������
����

-��
 

 ���% 0�������
 �	� �	�������	� ���
����
����	! Z�

0������
 $&�
 +	�������	


���
����
�����
 Z

x[n] X (z)

g[n] G(z)

A�
��� ����
 ax[n] + bg[n] aX (z) + bG(z)

+��
������ ��	 ����	 x[n− n0] z−n0

[
X (z) +

∑−1
m=−n0

x[m] z−m
]

x[n + n0] zn0

[
X (z)−

∑n0−1
m=0 x[m] z−m

]
C���� (�� ��	 z, ������	 ejΩ0n x[n] X (e−jΩ0 z)

zn
0 x[n] X ( z

z0
)

αn z[n] X (α−1 z)

/�	�� & 
�
���	)& x[−n] X (z−1)

.�
��	�& x(k)[n] X (zk)

$�����
 x∗[n] X ∗(z∗)

$�����#� x[n] = g[n] ≡ 0 ��
 n <

0

(x ∗ g)[n] X (z) G(z)

-���� ��
)	�� x[n]− x[n− 1] (1− z−1) X (z)− x[−1]

-
�
������ ��	 z, ������	 n x[n] −z
dX (z)

dz

$���������
∑n

k=0 x[k] 1
1− z−1X (z)

D�����
 
��� &
 ���&


x[0] = lim
z→∞
X (z)



�� ��������	�
� �
���������
���� �:

-��
 

 ��1% $��&"� ��!�� ���
����
������ Z�

$&�
 +��
����
�����
 Z -���	�& �!� ����


δ[n] 1 2��	 �	 z− ������	

u[n] 1
1− z−1 |z| > 1

−u[−n− 1] 1
1− z−1 |z| < 1

δ[n−m] z−m 2��	 �	 z− ������	 � ��
 z = 0

�
� m > 0� & z =∞ �
� m < 0�

an u[n] 1
1− az−1 |z| > a

−an u[−n− 1] 1
1− az−1 |z| < a

n an u[n] az−1

(1− az−1)2 |z| > a

−n an u[−n− 1] az−1

(1− az−1)2 |z| < a

[cos Ω0n] u[n]
1− [cos Ω0] z

−1

1− [2 cos Ω0] z
−1 + z−2 |z| > 1

[sin Ω0n] u[n]
[sin Ω0] z

−1

1− [2 cos Ω0] z
−1 + z−2 |z| > 1

[rn cos Ω0n] u[n]
1− [r cos Ω0] z

−1

1− [2r cos Ω0] z
−1 + r2 z−2 |z| > r

[rn sin Ω0n] u[n]
[r sin Ω0] z

−1

1− [2r cos Ω0] z
−1 + r2 z−2 |z| > r



�� �� ��������	�
� �
���������
����

��# $�%

�� 	
��
��	���
	�� Z& Laplace ��� Fourier

• � ���
����
�����
 Laplace 
�	����� ��� �
�� �	� ���
����
����	! Fourier ���� ��,

����(�� �����(� �����	!
 ����	��

• 2��	� 
)	�� �
 �&�
�
 ��
 ���	! ����	�* 	 ���
����
�����
 Fourier .�/� �FT −DT �
�����
� 
�� ��
 ������
 ���"!
  
� 
������	)	
�%

X(Ω) = X(ejΩ) =
+∞∑

n=−∞
x[n] e−jΩn ���8>�

x[n] =
1

2π

∫
2π

X(Ω) ejΩn dΩ ���8��

 
� ���� �
 �#&
 �
�
 ������� �%

– ���
� ����	�� & ��������� ��
 �����	!
 ���
7���&
 Ω �� ����	�	 2π�

– � 
����
�� �(� �������(� ���
� ΔT = 1�

– '� ΔT �= 1

X(ejΩΔT ) =
+∞∑

n=−∞
x(nΔT ) e−jΩnΔT ���8��

x(nΔT ) =
1

2π

∫
2π
ΔT

X(ejΩΔT ) ejΩnΔT dΩ ���81�

 
� � ����	�	
 ���� ���
�

Ω
′
p =

2π

ΔT
��� � ��������
 F = 1

ΔT
� ���84�

– � 
��"��
 �(� �������(� x(nΔT ) ���
� �����
����	
 & �����	
�

• $��� ���#� ��(
 ��	�	���	��� �����
�
 �	� ���
����
����	! Fourier .�/�* ���
�&

�	 ��
 ���� ���
����
����� Fourier �DFT) ��
 
 	�	�"�

 �� ����������� ��
&��

�������(� �� �� ��&�� �(� 
��	��"�(� FFT* 
��#�����
 
� � 
 	�	�"�
 ���
� �����
,

����� & ���� C
�� �������
 ��	� ��	�	����� �(� �������(� �	� DFT �����	��
� �!	

���� �)
����(�%

�)���� ��
����*�	+ �	 	�	�	

�� ���
� ��	 ���	�	 ���
 �<���
 ���������




�� ��������	�
� �
���������
���� �;

�� �������
� 
�#��	��

 �	� 
��"�� �(� �������(� N & ��	�!�
�
 �����	��

 �	

7&�
 �����
�	��<�

 ΔT 
� ΔT = T
N

 
� T  �
����
� ��
"����

�)���� �������	+ ��
� �	 �&�
 ��
 ���	! ����	� ��� ���
� ��	�	���
��* 	���� ���,

��� �
 �	��
��
��
���� �? ��
 �
��"��	 ��	 ����	 �	� ����	� �	� "
 ����	�����

�	� 
��"�� �(� �������(�� '� x[n] ��	 !���� 
�� �����
�	��<�
 ��	�	���
�	!

�&�
�	
 x(t) ���� ��

 T * ���� ΔT = T
N = 1

fs
* ��	� fs ���
� � ��������� ��
��

������*'�	  
� �	 �)���
 
�	 	�&
 ���
� ������

����� !%��� �����%�������
" Z 	�� �����%�������
" Fourier-�'�

'� ���� ����	�& �!� ����
 �	� ���
����
����	! Z 7��� ��
� 	 �	�
��
�	
  ! �	
* ����

��	�	!�� �
 ���
7	!�� 
�� �	 ���
����
����� Z ��	� ���
����
����� Fourier .�/� ��



 	�	�"�

 �� 
��� 
����
�� z = ejΩ* ���
�&

X(Ω) = X(ejΩ) = X(z)|z=ejΩ =
+∞∑

n=−∞
x[n] e−jΩn ���85�

����� !%��� �����%�������0� Z 	�� Laplace

2��
� ���
� ��(���
 	 ���
����
�����
 Z ��

 
 	�	�"�

 x[n] ��	�	!�� �
 ���
7	!�� ��	

���
����
����� Laplace ��
 
 	�	�"�

 �� 
��� 
����
�� z = es%

X(s) = X(z)|z=es =
+∞∑

n=−∞
x[n] e−sn ���88�

A��� ����
 ��
� ΔT �= 1 	 ���
����
�����
 Laplace 
 	�	�"�

 �������(� ���
� ����	�� &

��������� �� ����	�	 ωs = 2π
ΔT

��	 )
��
��� � �#	�
�* �����&

X(s + j
2π

ΔT
) =

+∞∑
n=−∞

x[n] e−snΔT e−j2πn = X(s). ���8:�

'� �

 ���
)���� 	 ���
����
�����
 Z* ���� ��
 ����7
�� 
�� �	 s, ������	 ��	 z, ������	

���
� � 
��� �����%

z = esΔT = e(jω+σ)ΔT = eσΔT︸ ︷︷ ︸
|z|

e jωΔT ���8��

9	 $�&�
 ��8 ���#���� ��� 
��� ����� esΔT = z� -
�
���	!�� �(
 � 
��� 
����
�� esΔT = z


��� 	�����  �"� �(���
 �!�	�
 ωs (
 ��	
 Im{s} �	� s, ������	� �? ��	 �	 z, ������	 ����
�&*

������������	 
��
 �
������� ���	����� �
 �
����� j ωs = j 2π
T



�> �� ��������	�
� �
���������
����

���
� ��
 ��������� 
��� ������� A�
 �
  
�
��&�	��� ��� 
��� ����� �	������* �����
��� ���


��� ����� ���	 ��
 �(���

 ��
 ω ∈ [−ωs

2
, ωs

2
) ��	 z, ������	� '�� ��� ���8�� ��	 !����

Re{s}

ωs
2

−ωs
2

Im{s}

Re{z}

Im{z}

�
� �7�

$�&�
 ��8% +���7
�� 
�� �	 ���
����
����� Laplace �
� ��	 ���
����
����� Z �7��

|z|

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

< 1 
� σ < 0

= 1 
� σ = 0

> 1 
� σ > 0*

���8;�

���
�&%

�� 9	 
������� s, ���������	 
��� 	�����
� ����
 �	� �	�
��
�	�  ! �	��

�� � )
��
��� �
 �#	�

 �	� s,������	� �jω �#	�

� 
��� 	�����
� ��	 �	�
��
�	  ! �	

����
����
�����
 Fourier .�/��

1� 9	 ��#� s, ���������	 
��� 	�����
� �#(���� � �	� �	�
��
�	�  ! �	� ��	 z, ������	�

4� A�
���
 �
�������
 ��	
 �	 )
��
��� � �#	�
 �	� s,������	� 
��� 	���	��
� �� 	��,

 ����	�
  ! �	�
 �� 
 ���
 |z| = eσΔT �

5� A�
���
 �
�������
 ��	
 �	� ��
��
�� � �#	�
 �	� s ������	� �σ �#	�
� 
��� 	���	��
�

��	 z, ������	 �� 
 ����
 �� �(��
 arg z = ωΔT �

8� '� s → 0* ���� z → 1� .��
�&* � 
��& �(� 
#��(� ��	 s, ������	 
��� 	�����
� ��	

z = 1 ��	 z, ������	�

:� '� ω ���
7�����
� 
�� −ωs

2
�� ωs

2
* ���� arg z = ωΔT ���
7�����
� 
�� −π (
 π�



�� ��������	�
� �
���������
���� ��

��' ��!(�
� ��� ���������
	�� )��		���� ������	
 

�!*(��"� 
�
��	!�"� ���
�	�+������� �� 	
�� 


��	���
	� Z

� ���
����
�����
 Z �
���� ��
� ���
����
 ���
��� � ���	 ���� 
������  
� ��� 
�
�
��,

��
�� �(� ��
��� �� ��	�	
����7���(� ��������(� �A�/�'�� ��
 ���	! ����	� �.�/�� '��

��� �������
 ��
 ������#�
 �����	��� ��� 	 ���
����
�����
 Z ��
 �#��	� y[n] ��	 !���� (


Y (z) = H(z) X(z) ���:>�

��	� X(z) ���
� 	 ���
����
�����
 Z ��
 �����	� x[n]  
� H(z) ���
� 	 ���
����
�����


Z ��
  �	���� &
 
�� ����
 h[n]* 	 	�	�	
 	�	�����
� ��������� ���������	 (system

function) & ��������� ����)���	 (transfer function)� A�
 z = ejΩ* � ��������� ����&,

�
�	
 � )������
� ���� 
�� ���� ��������

 �)��	� 7�7
�
 	 �	�
��
�	
  ! �	
 
�& �� ����

����	�& �!� ����
 �	� X(z)� $�	 C�)��
�	 � ���
�� ��� � ��������� ����&�
�	
 H(z) &�
�

� ���	���& �	� ����&�
�	
 �	� 
�����	���� ���� ���	��������� zn� -	���
 
�� ��
 ��������


���
 ����&�
�	
 ���
� ��"�(
 �����������
 �� �
 �
�
 ������� � �(� ���(�* �(� ������ ��

 
� ��
 ����	�&
 �!� ����
 ��
 ���������
 ����&�
�	
* ��(
 ��
��	�	�	!�� ��� �������
�

• ��
����� �% 23�
 A�/�'� �!����
 .�/� ���
� 
���
�� ���  
� ���	 ��� � ROC �	� H(z)

���
� �	 �#(���� � ���
  � �� 	! ��� 	� ��������
�7��	��

  
� �	 z =∞�

• ��
����� �% 23�
 A�/�'� �!����
 .�/� �� ���& ��������� ����&�
�	
 ���
� 
���
��

���  
� ���	 ��� �
� � ROC ���
� �	 �#(���� � ���
  ! �	� �#( 
�� �	� ��	 
�	�
 ��,

����	 ���	  
� �7� �� �	 H(z) � )�
����	 (
 ���	 �!	 �	��(�!�(� �	� z* � ��#� �	�

�	��(�!�	� �	� 
��"���& ��� ����7
���� ��� ��#� �	� �	��(�!�	� �	� �
�	�	�
��&�

• ��
����� �% 23�
 A�/�'� �!����
 .�/� ���
� ����
"�
 ���  
� ���	 ��� � ROC �	�

H(z) �������� �	 �	�
��
�	  ! �	 |z| = 1�

• ��
�����  % 23�
 A�/�'� �!����
 .�/� �� ���& ��������� ����&�
�	
 ���
� ����
"�


���  
� ���	 ��� ��	� 	� ���	� ��
 ���������
 ����&�
�	
 H(z)  ����
� ��	 ��(���� �

�	� �	�
��
�	�  ! �	�* ���
�& ��	�� ����	 �� �����	 ��
 �	���

�



�� �� ��������	�
� �
���������
����

C
�2 
�
�	��
 ��	
 �	 ���
����
����� Laplace �	� ��������� �	 ��(����� � ��	�	�����

�	� ���
����
����	! Fourier �����	!
 ����	� 
�� �	 �����
��
 ���(�,������ ��* 	 ��,

�
����
�����
 Fourier .�/� ��	��� �
 ��	�	������ ��(����� �
 "�(����

 �
 ��
�!��
�


���(�  
� ������ �� ��	 z, ������	� E����	 �����& ���� ������(�� 
��& � ���& ���������

��� ���
� �
 ��	�	������ ���( ��	 �	�
��
�	  ! �	 zF�* "�(�	!�� �
 ��
�!��
�
 �	� ��	��
�


�� �	�
 ���	�
  
� �
 ������ �  
�  
�
�&�	�� �2 ��
 �����	 ��� �	� �	�
��
�	�  ! �	� 
���

�	� )
��
��� 	! �#	�
 �	� s,������	��

������
��� ��!� 23��( ��(�	7�"��	 
���
�� A�/�'� �!����
 .�/� ��  �	���� & 
�� ����

h[n] = an u[n]� '�� �	 -
�������
 ��� ��(���	��� ���

H(z) =
1

1− a z−1
=

z

z − a
, |z| > |a|. ���:��

A�
 |a| < 1 � ROC ��������
�7���� �	 �	�
��
�	  ! �	  
� ��	���(
 	 ���
����
�����


Fourier .�/� ��
  �	���� &
 
�� ����
 ��� �����  
� ��	!�
� �� H(z) ��
 z = ej Ω* 	���� �


�� ���� ��������

 �����
� 
�� ���

H(ej Ω) =
1

1− a e−j Ω
. ���:��

9	 $�&�
 ��: ������� �	 �����
��
 ���(�,������ �� ��
 H(z) ��������
�7��	��

 �
 ��
�!,

��
�
 
�� �	� ���	 ��	 z = a  
� �	 ������ � ��	 z = 0 ��	
 ��
 �����	 �� �(��
 Ω ���

�	� �	�
��
�	�  ! �	�� 9	 ����	 ��
 
�� ����
 ��������

 ��� ��������
 Ω ���
� 	 ���	


�	� �& 	�
 �	� ��
�!��
�	
 v1 ��	
 �	 �& 	
 �	� ��
�!��
�	
 v2� � )��� ��
 
�� ����


��������

 ���
� � �(��
 �	� ��
�!��
�	
 v1 (
 ��	
 �	� ��
��
�� � �#	�
 ���	� �� �(��


�	� ��
�!��
�	
 v2� -�	)
��
 �	 �& 	
 �	� ��
�!��
�	
 v1 ���
� �	�
��
�	 ��
  �"� Ω� �

�(��
 �	� ��
�!��
�	
 v1 (
 ��	
 �	� 	�������	 �#	�
 ���
� Ω� A�
 0 < a < 1* �	 �������


�	� ����
� 
�� �	� ���	 ���� �	 �� �����	 �& 	
 ��
 Ω = 0* ��� �	 �& 	
 �	� 
�#����
�

�	���	�
  
"�
 Ω ���
7�����
� 
�� �	 > ��	
 �	 π� C
�� �������
 �	 ����	 ��
 
�� ����


��������

 "
 ������	�	����
� ��
 Ω = 0  
� "
 )"���� �	���	�
  
"�
 �	 Ω 
�#���� 
�� �	

> ��	
 �	 π� � �(��
 �	� ��
�!��
�	
 �	� ����
� 
�� �	� ���	 #� ��� 
�� �	 >  
� 
�#����
�

�	���	�
  
"�
 �	 	 Ω 
�#���� 
�� �	 > ��	
 �	 π�

9	 ����	  
� � )��� ��
 
�� ����
 ��������

 �������	��
� ��
 $�&�
�
 ���  
� ��;


�����	��(
 ��
 �!	 ����
 ��
 �
�
����	� a� 9	 ����	 ��
 �
�
����	� a �
���� ���	 �
�
,

��&��	 ��	
 ��� ��
"��� ����	� τ �	� ��(�	7�"��	� A�/�'� ����&�
�	
 $�/� -
�
���	!��



�� ��������	�
� �
���������
���� �1

��

v1

+

v2

Ω

1

a
Re{z}

Im{z}

$�&�
 ��:% .����
��
 ���(�,������ �� ��
 �	 ��(����� � ��	�	����� ��
 
�� ����
 �����,

���

 ���
 ��(�	7�"��	� A�/�'� ����&�
�	
 .�/�

��� �	 ����	 ����  	��)& ��
 
�� ����
 ��������

 ����
�& ��
 Ω = 0� ��
������
�  
"�


�	 |a| )"���� ��	
 �	 ������ +�	��� �
 ����"�� ���  
"�
 �	 |a| )"���� ��	
 �	 �����* ���� �

 �	���� & 
�� ���� 
�	�7�����
� ��� 
���	�
  
� � 7��
�� & 
�� ���� ������ ��	
 �� �	���


��� ��&�	�
�

Ω
π

|X
(Ω

)|

a=0.4
a=0.9

,� ,>�� ,>�8 ,>�4 ,>�� > >�� >�4 >�8 >�� �
>

�

�

1

4

5

8

:

�

;

�>

$�&�
 ���% +���	 ��
 
�� ����
 ��������

 ��
 a = 0.4  
� a = 0.9�



�4 �� ��������	�
� �
���������
����

Ω
π

∠X
(Ω

)
π

a=0.4
a=0.9

,� ,>�� ,>�8 ,>�4 ,>�� > >�� >�4 >�8 >�� �
,>�5

,>�4
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,>��

,>��

>

>��

>��

>�1

>�4

>�5

$�&�
 ��;% G��� ��
 
�� ����
 ��������

 ��
 a = 0.4  
� a = 0.9�


